

#### Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

### **PURCHASE REQUEST**

Dept./Office: OVPREI

PR No.: GF-2022-07-00943

Date: 07-13-2022

Section/End-User: Romnic A. Cabelin

Category: Hardwares

Funding Source: General Fund - MOOE

Project Title/Code: OVPREI.A.III.C

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Battery,Rechargeable,Alkaline,Size :AA Nominal Voltage 1.5V 2pcs/pack	pack	3	350.00	- 1	1,050.00

#### Specification:

2.High voltage: 1.5V

3. Rechargeable type: AA, alkaline rechargeable batteries.

Environmental protection material

6.Up to 1000 recharge cycles

7.Excellent high discharge / drain performance

8.Exact replacement for standard AA size batteries

9. Superior performance under low temperature condition

10.Longer in high drain devices.

11.lt is for Portable tape and TV remote controls, Clocks and radios, Electronic games, Smoke alarm, Cordless phone, electrical toy, and more.

2	2 Nails, Finishing, 1" kl 4 80.00				320.00
	Specification:				
	Smooth Shank	Parti Dist	50	(0	24
3	Nails, Finishing, 2"	kl	3	80.00	240.00
_	Specification:	The second secon	A STATE OF THE STA	and the state of t	

	Smooth S	hank				-	
4	Plywood, 4' x 8'	Marine, 1/4"(thickness) x	piece	20	- 36.75,	520.00	10,400.00
	Specificat Standard,	ion: Good Quality			VIII CAR	. Maria	
5	Plywood, 4' x 8'	Marine, 3/4"(thickness) x	piece	10	e-drugh.	1,550.00	15,500.00
	Specificat Standard,	ion: Good Quality			L i R		
		TOTAL	Link in the	ber W Hed	Ut = 38		27,510.00
Pur	pose: Offic	e supplies	Silve in	1-1-1 - 1-4	it in	H H	
Che	ecked by:	MARLON G. BURL	100			unds Available:	ALICIA M. FLORESO. NOME
		TWG - Hardwares	S Cheeding	Legistic Man	sabal realing		AD, BUDGET OFFICE POET
Print	ature: ted Name:	ROMNIC A. CABELIN END USER				C. CENIZA	Approved by:    EDGARDO E. TULIN   PRESIDENT, VSU

TOWN IN A ... IN I SUMMED DO TOWN HE PERSONNEL



## Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

## **PURCHASE REQUEST**

Dept./Office: OVPREI

PR No.: GF-2022-07-00943

Date: 07-13-2022

Section/End-User: Romnic A. Cabelin

Category: Hardwares

Funding Source: General Fund - MOOE

Project Title/Code: OVPREI.A.III.C

item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Battery,Rechargeable,Alkaline,Size :AA Nominal Voltage 1.5V 2pcs/pack	pack	3	350.00		1,050.00

#### Specification:

2.High voltage: 1.5V

3. Rechargeable type: AA, alkaline rechargeable batteries.

Environmental protection material

6.Up to 1000 recharge cycles ·

7.Excellent high discharge / drain performance

8.Exact replacement for standard AA size batteries

9. Superior performance under low temperature condition

10.Longer in high drain devices.

11.It is for Portable tape and TV remote controls, Clocks and radios, Electronic games, Smoke alarm, Cordless phone, electrical toy, and more.

kl	4	80.00	320.00
		The state of the s	
	kl	kl 4	kl 4 80.00

	Smooth Sh	ank				
_	-					
4	Plywood, I 4' x 8'	Marine, 1/4"(thickness) x	piece	20	520.00	10,400.00
	Specification Standard, (	on: Good Quality				,
5	Plywood, I 4' x 8'	Marine, 3/4"(thickness) x	piece	10	1,550.00	15,500.00
	Specification Standard, 0	on: Good Quality				
		TOTAL				27,510.00
Pui	rpose: Office	supplies				
Che	ecked by:	MARLON G BURL	AS			ICHA M. FEORES WINE
		TWG - Hardware	S		HEAD	, BUDGET OFFICE VE
		Requested by:	No	oted by:	1.	Approved by:
	nature: ted Name:	ROMNIC A. CABELIN		MAF	RIA JULIET C. CENIZA	EDGARDO E. TULIN
Des	ignation:	END USER		UNIT H	EAD, PROJECT LEADER	PRESIDENT, VSU



# Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

## **PURCHASE REQUEST**

Dept./Office: OVPREI

PR No.: GF-2022-07-00943

Date: 07-13-2022

Section/End-User: Romnic A. Cabelin

Category: Hardwares

Funding Source: General Fund - MOOE

Project Title/Code: OVPREI.A.III.C

item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Battery,Rechargeable,Alkaline,Size :AA Nominal Voltage 1.5V 2pcs/pack	pack	3	350.00		1,050.00

#### Specification:

2.High voltage: 1.5V

3. Rechargeable type: AA, alkaline rechargeable batteries.

Environmental protection material

6.Up to 1000 recharge cycles ·

7.Excellent high discharge / drain performance

8.Exact replacement for standard AA size batteries

9. Superior performance under low temperature condition

10.Longer in high drain devices.

11.It is for Portable tape and TV remote controls, Clocks and radios, Electronic games, Smoke alarm, Cordless phone, electrical toy, and more.

2 Nails, Finish	ing, 1"	kl	4	80.00	220.00
Specification:				00.00	320.00
Smooth Shanl	<				
3 Nails, Finishi	ng, 2"	kl	3	80.00	240.00
Specification:			-	30.00	240.00

	Smooth Sl	hank				
4	Plywood, 4' x 8'	Marine, 1/4"(thickness) x	piece	20	520.00	10,400.00
	Specificati Standard,	ion: Good Quality				
5	Plywood, 4' x 8'	Marine, 3/4"(thickness) x	piece	10	1,550.00	15,500.00
	Specificate Standard,	ion: Good Quality			,	
		TOTAL				27,510.00
Pur	rpose: Offic	e supplies				
Che	ecked by:	MARLON G BURL	AS		Funds Available:	LICIA MI FLORES (. WINDER
	0.4	TWG - Hardware	s			D, BUDGET OFFICE RES
	nature: ted Name:	ROMNIC A. CABELIN		Noted by:	RIA JULIET C. CENIZA	Approved by:
Des	ignation:	END USER		UNIT H	HEAD, PROJECT LEADER	V PRESIDENT, VSU